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GDS TO PM/MTS KERALA CIRCLE-2021

(1) IPPBisa
(A.) Public funded private bank
(B.)  Bank with 100% equity owned by the Government
(C.) Publically traded bank
(D.) Non banking financial institution
(2.)  The colour of franking impression

(A.) Green (B.) Brown (C.) Yellow (D.) Blue
(3.)  The cost to alter the payee name for money on

(A.)  Full commission (B.) Half commission

(C.) No payment (D.)  Cannot be altered
(4.)  Which of these services is not available in e-post office?

(A.) Philately (B.) Ganga jal

(C.) elIPO (D.)  PLI premium collection
(5.)  Blind literature packet Maximum Weight

(A) Skg (B.) 7kg (C.) 10kg (D.) 3kg

(6.) SPARSH is associated with which activity of India Post?
(A.) Postal life insurance
(B.) Financial inclusion through POSB
(C.) Pension disbursement through IPPB
(D.) Promotion of philately
(7.)  Which of the following service is not available in IPPB mobile application?
(A.) Pay life insurance premium
(B.)  Pay motor vehicle insurance premium
(C.) Pay PLI premium
(D.) Request money from UPI ID
(8.)  Total number of divisions in Kerala Postal Circle

(A) 20 (B.) 23 (C) 25 D) 27
(9.) Registration is compulsory when the weight of parcel is exceeding ...... kg.

(A) 1kg (B.) 2kg (C.) 500 gm (D) 4kg
(10.) FULL form of MDG in MDG post office

(A.) Mukhya Dak Ghar (B.) Madhyam Dak Ghar

(C.) Mananeeya Dak Ghar (D.) MainDak Ghar
(11.)  The charges incurred for e post per A4 page

(A) Rs.10 (B.)) Rs4 (C.) RsS (D.) Rs.6
(12.)  Who is the approving authority for special cover?

(A.) Director Postal Service (B.)  Director Philately

(C.) Postmaster General (D.)  Chief Postmaster General

(13.)  Full form of MMS is
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(A.)  Motor Mail Services (B.)
(C.) Mini Motor Services (D.)
To which office is an article redirected from one post office to
(A.) Sorting Office (B.)
(C.)  Another delivery office (D.)

Mail Motor Services
Motor Mini Services

RMS Office
Transit mail office

Every letter, packet or parcel has to be stamped with the date stamps of at least post offices?

(A) 4 B) 1 (C)

2 (D) 3

When a registered article of the letter mail or a parcel is received in a damaged condition, a notice will be
sent by the postmaster to the addressee requesting him to attend the post office within ........ in the case of
inland articles and in the case of foreign article to take delivery of it?

(A.) 5 days and 10 days respectively (B.) 7 days and 15 days respectively.
(C.) 7 days in each case (D.) 10 days and 20 days respectively.
Parcel directorate is headed by

(A.)  Secretary Posts (B.)  Chief Postmaster General, Delhi
(C.)  Chief General Manager (D.)  Director General

Stamps CANNOT be sold through which of following channels

(A.) Postmen (B.)  Philatelic Bureau

(C.) Counters (D.) MPKBY Agents

Which of these services is not charged in [IPPB?

(A.)  Issuing virtual debit card (B.)  Child enrolment lite client

(C.) Digital life certificate (D.)  Sweep in sweep out from POSB
India Post's products and services will be the customer's first choice." This statement is ........ of India post.
(A.) Mission (B.)  Vision

(C.) Core value (D.)  Strategic goal

Which of the following services is NOT discontinued?

(A.)  Express Parcel (B.)  Flat rate box

(C.) Media Post (D.) Data Post

Which is the official twitter handle of India Post?

(A))  @indiapost 7 (B.)  @indiapostoffice

(C.) (@postofticeindia (D.) (@deptofpostsindia

Of the following items which is prohibited to be sent via mail in India?

(A.) TB sputum (B.)
(C.)  Anthrax spore vaccine (D.)
Which of these shapes of parcels cannot be accepted?

(A.) Flat parcels (B.)
(C.) Rectangular parcels (D.)
C-class NDSO will have how many postmen?

(A) Onlyl1 (B.) 2 ormore (O8]

Plague culture
Gold bullion worth 50000

Cylindrical parcels
Conical parcels

5 or more None

D.)

The officer responsible for disbursement of salaries (DDO) now is
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(A.) Head Office Postmaster (B.) SO Postmaster

(C.)  Accountant, Divisional Office (D.) DAP

Beat for a Postman is

(A.) A particular route (B.) A specified area for delivery

(C.) Route followed traditionally (D.)  Area mentioned in the address
Missent letters are treated in which way?

(A.)  Sent out for delivery (B.)  Sent back to the sorting hub

(C.) Directly handed over to nearby PO (D.) Retained in post office for 3 days
The side on which the address is written is known as

(A.) Front (B.) Face (C.) Label (D.) Head

A post office having one Postmaster, one Postal Assistant, 2 Postmen and 3 ABPM is in which category of
Sub Post office?

(A)) Aclass (B.) Bclass (C.) Cclass (D.) MDG

The unit responsible for voucher checking and savings bank transaction checking in Head Post Office is
know as

(A.) CPC (B.)) CRC (C.)  SBCO (D.) SBPB
On written request of payee, the cost of redirection of money order is?

(A.) No charge (B.) 10 rupees

(C.) Half the commission (D.)  Full commission

In logistics post what is the full form of LTL

(A.) Limited truck load (B.)  Less than a truck load

(C.) Little truck load (D.)  Lightweight truck load

Upper limit for COD collection amount from addressee in India Post is

(A.)) Rs.20,000 (B.) Rs.50, 000 (C.) Rs.1, 00,000 (D.) No limit
Penalty for late payment of BNPL dues is

(A) 8% (B.) 10% (C) 12% (D) 14%

An insured article containing valuable had come to post office for a deceased person. What should be done?
(A.)  To be delivered to the legal heir

(B.) To be treated as unclaimed article

(C.) To be handed over at the addressee

(D.)  Sent to divisional office

The symbol 'F' is used to distinguish which kind of mail bag?

(A.) Insured bag (B.) Cashbag (C.) Forward bag (D.) Parcel bag
Form used for customs declaration are

(A.) CN20andCN 21 (B.) CN22and CN 23

(C.) CN26andCN 27 (D.) CN28andCN 29

The Postmaster of Calcutta GPO is of rank of

(A.) Director (B.)  Senior Superintendent

(C.)  Superintendent (D.) HSG-1
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C-class NDSO will have how many postmen?

(A) Onlyl1 (B.) 2 ormore (C.) 5 ormore (D.) None
What should a postman do when payee for e-MO is not at the address?

(A.) Keep the money with him to give next day

(B.) Return to treasury

(C.) Return to the delivery PA

(D.)  Give to the next door neighbour

The portfolio remains in the custody of

(A.) Head Record officer (B.) Mail Guard

(C.) Mail van driver (D.) NSH Manager

Daily report for sorting set is prepared by

(A.)  Sorting Assistant (B.) Head Sorting Assistant

(C.)  Sorting Office Assistant (D.)  Sub Record Officer

Transit bags must always be closed and sealed in the presence, and under the direct supervision.

(A.) Head Sorting Assistant (B.)  Head Mail Guard

(C.) Mail Agent (D.)  Any of the above

Exchange of mail is as per which list?

(A.) DMSL (B.) DML (C.) Baglist (D.) MoDW

Duties of Head Postmen include

(A.) To take out for delivery returned articles

(B.)  To test the work of postmen

(C.) To accompany Postmen if high number of EMO

(D.) All of the above

A house has a family of a couple, their girl child of 7 years, boy child of 12 years and grandfather aged by
having pension. How many are eligible for opening Savings bank accounts?

(A) 2 B.) 3 (C) 4 (D) Al
Who fixes the beat of the Postman?

(A.) Regional office (B.) Divisional head

(C.)  Sub divisional head (D.)  Postmaster

What should the postman not do as per Postal Manual Volume 6?

(A.) Deviate from the beat

(B.) Deliver article for which sum is due

(C.) Deliver article from which sum is to be Deliver article recovered

(D.)  All of the above

M 42 and M 43is related to what document?

(A.)  Due mail list (B.) Memorandum of work

(C.) Sorting list (D.) Mail abstract

Who among the following is associated with 'Songs from Prison', a translation of ancient Indian religious
lyrics English?
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(A.) Lala Lajpat Rai (B.)  VeerSavarkar

(C.) MohandasKaramchand Gandhi (D.)  Sarojini Naidu

Who was known as grand old man of India?

(A.)  Pherozeshah Mehta (B.) Badruddin Tyabji

(C.) Dadabhai Naoroji (D.)  Gopala Krishna Gokale

First communication minister of Independent India

(A.) C.D.Deshmukh (B.) Jagjivan Ram

(C.) Rafi Ahmed Kidwait (D.)  Syama Prasad Mukherjee
How many Gold medals in total won by India in 2020 Olympics?

(A) 6 B) 1 (C) 8 D) 7
Gross national happiness is measured in which country

(A.) Nepal (B.)  Sri Lanka (C.) Japan (D.) Bhutan
Sattriya is a dance form in which state?

(A.) Rajasthan (B.) Telangana

(C.) Himachal Pradesh (D.)  Assam

First postage stamp in India

(A.) Multani Dak P (B.)  Pahadi Dak

(C.)  Scinde Dawk (D.) Bombay Sappers

73rd amendment to constitution brings which change
(A.)  Anti defection law
(B.)  GST (Goods and Services Tax)

(C.) Panchayat Raj
(D.) EWS (Economically weaker Sections)

Siliguri corridor also known as "chicken's neck" is in which state?

(A.)  Sikkim (B.) West Bengal
(C.) Assam (D.)  Arunachal Pradesh
The sum of the ages of 5 members comprising a family, 3 years ago was 80 years. The average age of the
family today is the same as it was 3 years ago, because of an addition of a baby during the intervening
period. How old is the baby?

(A.) 6 months (B.) 1year
(C.) 2years (D.) 2 years and 6 months
Dhruv and Shyam work on a job together for four days and complete 60% of it. Dhruv takes leave then and
Shyam works for eight more days to complete the job. How long would Dhruv take to complete the entire
job alone?

(A.) 6days (B.) 8days (C.) 10days (D.) 11 days
The average monthly income of a person in a certain family of 5 is Rs.10, 000/-. What will be the average
monthly income of a person in the same family if the income of one person increased by Rs.1, 20, 000/- per
year?

(A)) Rs.12,000 (B.) Rs.16,000 (C.) Rs.20,000 (D.) Rs.34,000
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(63.)  The monthly average salary paid to all the employees of a company was Rs. 5000. The monthly average
salary paid to male and female employees was Rs.5200 and Rs.4200 respectively. Then the percentage or
males employed in the company is

(A)  75% (B.) 80% (C) 8% D.)  90%
(64.) A man buys a cycle for Rs. 1400 and sells it at a loss of 15%. What is the selling price of the cycle?

(A)) Rs.1,090 (B.)) Rs.1,160 (C) Rs.1,190 (D) Rs.1,202
(65.) A fruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had

(A.) 588 apples (B.) 600 apples (C.) 672 apples (D.) 700 apples

(66.) In an election between two candidates, one got 55% of the total valid votes, 20% of the votes were invalid.
If the total number of votes was 7500, the number of valid votes that the other candidate got was
(A) 2700 (B.) 2900 (C.) 3000 (D) 3100
(67.)  Which figure will replace the question mark?
Question Figures:

XX ?

Answer Figures:

S Pad i niPat

(A) a (B.) b (C) ¢ D) d
(68.)  Which figure will replace the question mark?
Question Figures

©_© L :

il . L

Answer Figures

QlAICTA

(A) (B) © ®
(A) a (B.) b (C) ¢ D) d
(69.)  Which figure will replace the question mark?
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(A) a B) b (C) ¢ (D) d
(70.)  Which figure will replace the question mark?
Predicm Figure Anrwer Flgures
o|o ° i | ad
0
o 4 O 0 Slh o o
) Y- 0 {a) () © ]
2 .
O|lo
0
(A) a (B.) b (CHFF ¢ (D) d

(71.)  Which figure will replace the question mark?

ooo0l0o00|00O
o ' &
AA |Aaasladb
oocoQoj0oO |[O

a AA |AAA
o0 |0
A

o '|[coojjoco

aa |laa |la_alla
™ O] @

(0]
(A) a B.) b (C) ¢ (D) d
(72.)  Alfred buys an old scooter for Rs.4700/- and spends Rs.800/- on its repairs. If he sells the scooter for Rs.
5800, his gain percent is
(A)  43% B.) 55% (C) 10% 5

D) 5=%
(D) 5%
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(73.)  Rajeev buys good worth Rs. 6650. He gets a rebate of 6% on it. After getting the rebate, he pays sales tax @
10%. Find the amount he will have to pay for the goods.
(A.) Rs.6876.10 (B.) Rs.6999.20 (C.) Rs.6654 (D.) Rs.7000

(74.) If a person walks at 14 km/hr instead of 10 km/hr, he would have walked 20 km more. The actual distance
travelled by him is
(A))  56km (B.) 50km (C.) 60km (D.) 40km

GDS TO PM/MTS KERALA CIRCLE-2021 KEY

ANSWER
(1.) B 2.) D 3) |D @) |D (5) |B
(6.) D (7.) C @) |D ©) |D 10) |A
(11) |B 12) |D 13) |B 14) |c as) |c
(16) |B a7) |c (18) |D (19) |D (20) |B
21) |C 22) |B 23) |D 24) |D 25) |D
(26) |A 27) |B (28.) _|B (29) |B (30.) |B
(3l) |C (32) |A (33) |B (34) |B (35) |C
(36) |B (37) |B (38.) |B (39) |A . |D
@41) |B @) |B @3) |B @4) |D 45) |B
@46) |D @7) |D 48) |D 4.) |D (50) |D
(51) |C (52) |C (53) |C (54) |B (55) |D
(56) |D (571) |C (58) |C (59) |B (60.) |B
6l) |C 62) |A (63.) |B 64) |C 65) |D
66) |A 67) |A 68) |D 69.) |B (70) |C
(71)  |A (72) |D (73) A (74) |B
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